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1: change subtraction to 5x 31

mmmgsm @ +9 > 5-(9>+-? = ,
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2: Then divide both sides by 5 % — 3)=31V
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Check your answer,

Perform the inverse operations
when solving equations.

When checking your solution, use

the correct order of operations. [P E

MD AS]

an use two-step equations to solve many problems. Write an equation for each and solve.

fe more than 2 times a number is -7.
Equation: g +t 2% s

) diminished by -7 times a number is 51.
Equation:
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Practice:
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Solve and check each solution.
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wolve and check each solution.

4x —17 = 31

“+4=38

9n + 18 = 81

checkm 2.
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